Kid Crossword’s Obligatory Crossword
Concept by Thomas Snyder
Puzzle by Tyler Hinman

In this crossword, the answer numbers in the grid have been scrambled, leading
to situations like “1A - Part 3 of the instructions” being in the bottom of the grid.
Solving the crossword reveals the instructions READ FIRST TWENTY ODD
NUMBERED SQUARES. Looking at 1, 3, ..., 39 spells NOW LOOK AT CORRECT
ONES. The eight shaded squares are in their correct position in the crossword.
Their letters from left to right spell ABRASIVE.
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